S 8| EEIRSEI

X
=

| pos

a3

=0
=

MESEAl ZAT

7
0
T o
— \_lﬁmO
T
8 T
N NO
R
o
B N
b
G
[@))
[@N
n
Q@)
[@N
(->)
[@N
o7 o]
o) &

g
N

o)

ol

2. Aol

7
Nlo

P
-

=

g AME =

o
=

2] YT

YA
ar

L [

ﬂo

Ie

X



ﬁwo

7}, B AN

|~| l%*—‘]ionqog—o Uﬂ
=]

1)

o
T

o}
3r

. JJ— LIS
( 3- 9. 22. 2023- 10- 12 ) = I
]

W

]

JOI

o)
o
o)
o

_Lry.!
T

e
wmo

gase)

=
il

A}

/]\:]’

3) TrAIA



<

MaS-A A 2 A

get 2ol 714

B

22!



AeEEA AT AUEF BOAAE FAT BFFow A
Ngds % 2)
AEEWA FAT AFEF SEAANEATH FEE AW HFE AW 1

44571445-9, 144671446-5, 1447~1447-4, 1448~ 1448-17, 1449~1449-14, 1450

~1450-3, 1451~1451-6, 1452~1452-6, 1454-2~7, 1454-11~125. & A+
TEFOE AY Tk

Ndddx 3)

NEEEA BAT FFEF 1091658 ZAF WEAEo R ZAT YIiE
% 714-6, T14-7, 724-69, 7269 A& 7 5 +

MEEIA AT 7hs 12604 45 9] 30072AE AT vt o s HYet

MaSHA AT 5EF 709-27% 9 Bels 184-45355 AT vl los HY

MEEWA AT ks 13094 9] 77484 D FAT 7FEE 243-1 9] 5AE A

TR OR, AT R 1341 9] 8BAE AT 7o, AT ks 609-56
9] 1I8BAE AAT FFEOE, AT JIFE 1181 9] 1238AF BAT SEFOR
ztzt MY et




e

% 2]
HETH HA X|HE EMESEH28 )
ae | sy | Aw | A= | EFT] AR
1 4tolE 1 0 st 49,018 o5 s
2 4istE 2 1 St 109,451 olgs
3 atsls 2 3 St 760 oI=s
4 4istE 2 46 St 832 o5 =
5 4tslE 2 47 st 119 o5 s
6 utsts 2 48 St 493 ol=s
7 utsls 2 49 St 965 olSs
8 aiotE 2 50 St 9,694 oS
9 utsls 2 51 St 631 otg=
10 4iotE 2 53 St 1,530 olgs
11 atslE 2 54 St 24 o=
12 4tstE 5 1 St 20,056 o5 s
13 4istE 5 2 StH 1,736 o5 s
14 utsls 5 3 St 605 oSS
15 utsls 5 4 St 126 o5 s
16 4iotE 5 5 St 126 ol5s
17 4iotE 6 1 St 1,084 olgs
18 utsls 6 2 St 1,167 oSS
19 atslE 6 3 St 215 o=
20 4tstE 7 1 St 4212 ol2s
21 FUCIE=S 7 2 StH 1,507 o5
22 utsts 7 3 St 1,461 oS
23 utsts 7 4 StH 860 oI=s
24 utsls 7 5 St 344 ol=5s
25 utsts 8 1 St 2,225 o=
26 utsls 8 2 St 843 o3 =
27 atsls 8 3 St 719 o5 =
28 atsts 8 4 St 172 o=s
29 utsts 8 5 St 1,422 oSS
30 4tstE 8 6 StH 3,755 o5 s
31 utsts 8 7 St 2,760 oI=s
32 utsls 8 8 St 3,372 ol=5s
33 atsts 8 9 St 440 o=
34 4tstE 8 10 NIEY 236 olE S
35 4tslE 8 11 NIEY 183 olE S
36 4tstE 8 12 IS 13 o5 =
37 4tstE 8 13 HEX 425 ol3s
38 4tstE 8 14 E=IN 76 olg S
39 atols 8 15 HEX| 452 oS
40 utsls 8 16 St 128 =S
41 4totE 9 1 st 384 o5 s
42 4istE 9 2 St 495 o=
43 4tolE 9 4 NIE 1,015 e
44 atslE 9 5 X e 343 olEs
45 4tstE 9 6 HEX| 435 o5 s




o =g o A o= O'%(mf)ﬂ (glj%)
46 atsts 9 7 HEX 148 o5 s
47 atals 9 8 SN 667 =&
48 atsls 10 0 NI 1,128 =&
49 atets 10 1 ™ 36 o=
50 atstE 10 2 ™ 83 ol5s
51 atstE 11 1 Q1oF 60 ol5s
52 atsts 11 2 X gt 3,253 o= s
53 asls 11 3 Ny 326 ofss
54 aats 11 4 U OF 8 oss
55 asls 11 7 U OF 47 oss
56 ets 11 8 ™ 15 ol==
57 Lots 11 9 QI0of 22 o= =
58 atsls 11 10 QI0of 45 oIES
59 atsts 11 11 x| gt 83 ol5s
60 asts 11 12 Qlof 35 otss
61 asts 11 13 QIof 55 oS
62 atsts 12 1 ™ 1,481 o5 s
63 atslE 12 3 ™ 2,942 ol5s
64 asls 12 4 StH 311 oss
65 Hst= 12 5 ™ 50 o=
66 asls 13 1 StH 443 oIES
67 aatE 13 4 StH 246 oIss
68 asts 13 5 StH 314 oSS
69 asts 13 6 StH 74 oSS
70 atals 13 7 NIy 797 o2 s
71 atsts 13 9 NN 9 ol5s
72 gtsts 13 10 NIE 300 ol5s
73 atsts 13 11 e 108 o=
74 atatE 13 12 &KX 104 ==
75 atsts 13 13 NEIN 442 ] ==
76 atsts 13 14 NEIN 128 5=
77 atsls 13 15 SN 1,016 oS
78 asts 14 1 StH 159 o5 =
79 gsts 14 5 StH 136 oS
80 usls 14 6 StH 40 o= s
81 atstE 14 7 NEIN 2,305 o= s
82 asts 14 8 StH 1,347 oSS
83 atsls 14 9 st 641 o5 s
84 atsls 14 10 st 575 o5 s
85 asls 14 11 StH 2,648 oss
86 atetE 14 12 ™ 1,091 o5 =
87 asls 14 14 HEX| 268 &
88 atsls 14 15 StH 688 O rﬂE
89 atsts 14 16 NEIN 16 op=
90 atsls 15 1 StH 331 DrﬂE




Ol ™A H| 12

o= =4 Al H A= () (Bols)
91 4ists 15 2 St 337 olg s
92 utsts 15 7 St 370 ol=s
93 4iotE 15 10 St 1,289 o5 s
94 utsts 15 11 St 975 o=
95 4tstE 15 12 st 1,760 o5 s
96 4tstE 15 13 st 262 olE S
97 utsts 15 14 St 354 oSS
98 4istE 15 15 St 248 olg S
99 utsls 15 16 St 1,777 olSs
100 utsls 15 17 St 277 ol=5s
101 atsts 16 5 St 282 o=
102 utsts 16 6 St 114 o5
103 4istE 16 7 St 629 o5 =
104 4tstE 16 8 st 1,138 o5 s
105 utsts 17 1 St 10 oI=s
106 utsts 17 3 St 379 olZs
107 utsls 17 7 St 169 ol5s
108 utsls 17 8 St 1,775 =S
109 utsls 17 9 St 747 oI=s
110 atsls 17 11 St 181 ol=5s
111 atsls 17 12 St 109 ol=ss
112 utsls 17 13 St 96 o5
113 utsts 17 14 St 1,705 oI=s
114 utsts 17 15 St 2,626 oI=s
115 utsts 17 16 St 1,936 o=
116 utsls 17 17 St 94 =S
117 utsls 17 18 St 570 oIEs
118 atsls 17 22 St 34 olE s
119 atsls 17 23 St 1,165 ol5s
120 LIRS 17 25 StH 243 o5
121 LIRS 17 26 StH 916 olEs
122 YIS 18 2 ™ 1,893 ot==
123 FUCIE=S 18 5 ™ 208 o=
124 atols 18 6 ™ 235 oS
125 FUCIE=S 18 8 H 547 ot5=
126 YIRS 18 9 ™ 390 o5
127 4tstE 18 10 M 1,033 o= S
128 4istE 19 4 NN 279 olg S
129 4tstE 19 6 NN 125 olg S
130 utsls 46 2 NIEY 8,277 =S
131 atsls 52 0 HEX 2,416 o= s
132 atsols 52 2 HEX| 682 o= s
133 4istE 52 5 N 784 DPIE
134 4tstE 52 7 HEX 259 o=

135 4istE 53 2 =X 1,909 DPIE




ols MH H| 12
o4 =9 NI A= () (Bols)
136 atsls 53 5 TA 1,189 olg s
137 atols 53 6 X 4610 oS
138 atsls 53 8 =X 636 o=
139 atols 53 11 X 3,493 olg s
140 2Hats 53 12 A 411 ==
141 4tstE 53 13 SN 110 olE S
142 4tstE 53 14 A 15 o2 S
143 4istE 53 16 X 328 olg S
144 gdtsts 53 17 A 64 oz =
145 LIRS 54 0 ™ 178 o5
146 4iotE 54 4 H 651 o5 s
147 YIS 54 5 ™ 1,322 o=
148 45t 54 6 ™ 10 o5 =
149 4tstE 55 0 = 135 o5 s
150 FUCIE=S 55 3 =1 238 ot5=
151 FUCIE=S 55 5 ™ 316 ol
152 atslE 55 6 =1 857 ol5s
153 4tstE 55 7 =f 107 o5 s
154 LIRS 55 8 =1 10 o= =
155 LIRS 55 9 =1 90 o5 =
156 atslE 56 0 HEX 273 ol=ss
157 Hi5ts 56 4 WEIN 2,043 o5 =
158 4tstE 57 1 NI 135 olg S
159 atsls 57 2 HEX 541 oS
160 atols 57 4 HEX| 109 oS
161 utsls 57 5 E=IN 726 =S
162 4totE 57 6 HEX 44 olE S
163 4tstE 58 2 NIEY 40 o=
164 atsls 59 0 NI 378 ol5s
165 EIEES 59 1 SEIN 452 o5 s
166 EIEES 60 2 SEIN 1,963 o5 s
167 atsols 61 1 HEX 1,113 ol2S
168 atsls 63 2 HEX 60 oS
169 atols 63 3 HEX| 831 oS
170 4tstE 63 5 E=IN 494 olE S
171 4tslE 63 6 NE=IN 113 olE S
172 4tstE 63 7 TA 77 o= S
173 gtz 63 8 HEX 98 oSS
174 IS 63 9 TA 122 o5 s
175 utsls 63 10 HEX| 18 =S
176 atsls 63 11 HEX 352 o= s
177 atsols 63 12 HEX| 160 o= s
178 atslE 64 1 HEX 78 DPJE
179 4tstE 64 2 H 55 op=
180 EIEES 64 3 M 152 DPJE
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o4 =9 NI A= () (Bols)
181 atsls 64 4 TA 1 olg s
182 YIS 64 6 ™ 4 ot=3=
183 atsls 64 7 HEX| 470 o= s
184 atols 64 8 HEX| 16 olg s
185 4tstE 64 9 E=IN 84 o5 s
186 4tstE 65 0 HEX 30,320 olE S
187 4tstE 65 2 HEX 2,312 o2 S
188 ELETES 70 1 SEIN 451 o5 s
189 4tstE 70 2 N 278 olE S
190 4tslE 70 3 E=IN 698 olE S
191 atsls 70 4 HEX| 95 olE =
192 atsls 70 5 HEX| 96 olE s
193 atslE 70 11 HEX 243 ol=ss
194 4tstE 70 12 HEX 43 o5 s
195 4tstE 70 13 HEX 7 o2 S
196 4tsts 70 15 HEX 232 ol5s
197 4tslE 70 16 E=IN 29 olE S
198 utsls 70 17 E=IN 190 =S
199 4tstE 70 18 E=IN 18 olg S
200 4istE 70 19 HEX| 64 o= s
201 atslE 70 20 HEX 70 =
202 atslE 70 21 HEX 11 olss
203 4tstE 70 22 HEX 27 olg S
204 atsls 71 8 HEX 414 oS
205 utslE 71 9 ™ 291 o=
206 utsls 71 10 E=IN 1,631 =S
207 4totE 71 11 HEX 497 olE S
208 4tstE 71 12 HEX 217 o=
209 4istE 72 1 H 165 o5 =
210 utsls 72 2 ISEEN| 19 ol=Es
211 atslE 72 5 NI 13 o=
212 YIS 72 6 ™ 136 ot==
213 FUCIE=S 72 7 ™ 426 o=
214 atsts 72 8 NI 325 o=
215 FUCIE=S 72 9 ™ 105 ot5=
216 4tslE 72 10 H 109 o5 s
217 4tstE 72 11 HEX 2,820 o= S
218 4istE 72 12 M 459 o5 s
219 4tstE 72 13 H 505 o5 s
220 4tstE 73 1 H 182 o5 s
221 atsls 73 6 HEX 1,064 o= s
222 atsols 73 7 HEX| 151 o= s
223 atslE 73 8 HEX 163 DPIE
224 4tstE 73 9 NIEY 147 o=

225 atslE 73 10 ISEEON| 37 DPIE




ols MH H| 12

B =9 Al A= (m*) (Hls)
226 4ists 73 11 NIEY 24 o5 s
227 atols 73 12 HEX 816 oS
228 utsts 74 0 NI 14,321 o=
229 atols 74 1 HEX| 252 olg s
230 4tstE 74 2 E=IN 150 o5 s
231 4tstE 74 3 HEX 148 olE S
232 4tstE 74 5 HEX 1,077 o2 S
233 utsls 74 7 ISEEN| 185 ol=5s
234 4tstE 76 0 NIIF 8,511 olE S
235 4tslE 76 1 NIIEY 90 olE S
236 atsls 76 2 HEX| 4 o= s
237 atsls 76 3 HEX| 96 olE s
238 atslE 76 4 HEX 38 o5
239 4tstE 77 5 HEX 77 o5 s
240 4tstE 77 6 HEX 81 o2 S
241 4tsts 77 7 HEX 87 ol5s
242 4tslE 77 8 E=IN 1,632 olE S
243 utsls 77 9 E=IN 161 =S
244 4tstE 77 13 E=IN 177 olg S
245 4istE 77 14 HEX| 15 o= s
246 atsls 77 15 HEX 218 ol=ss
247 atslE 77 16 HEX 13 o5&
248 4tstE 77 17 HEX 24 olg S
249 atsls 77 18 HEX 414 oS
250 atols 77 19 HEX| 100 oS
251 utsts 78 4 ™ 574 oS53
252 4totE 78 5 HEX 2,320 olE S
253 FUCIE=S 78 6 H 751 ol =
254 EIEES 78 7 ™ 526 o5 =
255 4tstE 78 8 H 258 o5 s
256 atslE 78 9 HEX 20 o=
257 atsols 79 1 HEX 990 ol2S
258 FUCIE=S 79 3 ™ 424 o=
259 4iotE 79 5 ™ 950 ol5s
260 4tstE 80 1 H 166 o5 s
261 YIRS 80 7 ™ 145 o5
262 YIS 80 8 ™ 49 ot==
263 atslE 81 1 ISEEN| 15,852 oSS
264 4tstE 81 2 E=IN 711 olg S
265 4tstE 81 3 E=IN 707 olg S
266 atsls 81 4 HEX 707 o= s
267 4iotE 82 1 H 1,367 o5 s
268 atslE 83 1 HEX 50 DPIE
269 4tstE 83 11 HEX 729 o=

270 atsls 85 0 HEX| 91,518 DPIE
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o= =4 Al H | = (Hol=)
271 utslE 104 12 >d oSS
272 utsts 104 14 =& ol=s
273 utsts 104 15 SH o=
274 utsts 106 1 >H o=
275 utsls 116 2 =& ol=s
276 utsts 138 4 =& oI=s
277 atsls 139 0 HEX o2 S
278 4istE 139 2 >¥ olgs
279 utsls 140 1 =& olSs
280 utsls 140 6 =& ol=5s
281 atsts 140 8 =& o=
282 Bt = 142 1 =& o5 =
283 atsls 142 3 & o=
284 utsls 143 0 =& ol=s
285 utsts 144 4 =& oI=s
286 utsts 145 1 =& oI=s
287 atslE 146 1 =& ol5s
288 4tstE 151 0 E=IN olg S
289 utsls 152 4 =& oI=s
290 4istE 153 0 HEX| oS
291 atslE 153 1 >H ol=ss
292 atslE 155 4 CH olss
293 utsts 156 25 =& oI=s
294 utsts 156 26 SH oI=s
295 utsts 162 9 SH o=
296 HistE 748 0 =] olE S
297 HiotE 748 2 == olE S
298 HiotE 748 3 L= olg S
299 HistE 748 4 ==} o= s
300 4tstE 748 8 =) olg S
301 HistE 748 9 =] o= s
302 4iotE 748 10 == ol5s
303 4iotE 748 11 =] oS
304 4iotE 748 12 == =
305 4iotE 748 15 CZ olE S
306 ukshs 749 1 St oSS
307 atsts 749 2 St ol=s
308 utsls 749 3 St oSS
309 4tstE 749 4 5t olg S
310 4tstE 749 5 St olg S
311 atsts 749 6 St o=
312 utsts 749 14 StH o=
313 atsls 749 15 St o=
314 4tstE 750 0 A o= S
315 4istE 750 2 TA olgs




Ol ™A H| 12

B =9 Al = (m*) (Hls)
316 4ists 750 6 TA 27 olg s
317 atols 750 7 TA 10 oS
318 atsls 750 8 TA 52 o= s
319 atols 751 1 A 23 olg s
320 4tstE 751 2 TA 263 o5 s
321 4tstE 751 3 TA 26 olE S
322 4tstE 751 4 A 1 o2 S
323 4istE 751 6 TA 1,023 olg S
324 HistE 757 0 =] 72 o5 s
325 HistE 757 10 E=2 947 o5 s
326 45t 757 13 EZ2 2,367 o5 s
327 4istE 758 6 38 263 o5 =
328 4istE 786 0 St 45,808 o5 =
329 uksls 787 0 St 81,970 o= S
330 utsts 788 0 St 5,550 oI=s
331 utsts 792 0 St 31,669 olZs
332 4tslE 842 0 =& 8,135.2 olE S
333 4tstE 842 1 > 767.8 olg S
334 HiotE 842 7 E=2 4310 o5 s
335 4istE 864 0 HEX| 13,897.5 o= s
336 atslE 864 1 HEX 20.2 ol=ss
337 4tstE 864 2 TA 483.1 nlg s
338 4tstE 864 3 TA 96.1 olg S
339 atsls 864 4 A 797 oS
340 atols 864 5 HEX| 3,914.5 oS
341 utsls 865 0 E=IN 8,492 =S
342 utsls 119 0 QIoF 2,578 oIEs
343 4tstE 123 1 Qlof 302 o2 s
344 4istE 168 12 CH 288 o5 =
345 4tstE 168 13 CH 1,256 o5 s
346 4tslE 168 14 CH 165 o5 s
347 utsts 168 15 CH 384 oI=s
348 4iotE 168 16 =] 2,023 olgs
349 4iotE 168 17 CH 76 ol5s
350 4tstE 168 19 EmE=1 1,098 o5 s
351 ukshs 168 20 CH 5,844 oSS
352 2ets 168 25 L2 48 o2 =
353 4istE 168 32 CH 97 o5 s
354 4tstE 168 38 CH 1,023 olg S
355 HistE 168 43 E=2 304 o5 s
356 4iotE 168 45 == 200 o5 s
357 YIS 168 48 CH 72 o5 =
358 4istE 168 49 CH 172 DrﬂE
359 utsts 168 50 CH 1,764 oLz

360 HistE 168 67 L2 78 DrﬂE




Ol ™A H| 12
o= =4 Al H A= () (Bols)
361 4ists 168 68 oY 100 olg s
362 utsts 168 70 CH 326 ol=s
363 Bt s 168 71 TEX| 6 ol=3
364 4iotE 168 72 ==} 260 o5 =
365 utsls 168 73 CH 13 olg S
366 HiotE 168 75 = 78 olE S
367 atsls 168 76 == 1,182 o2 S
368 4istE 168 87 CH 170 olg S
369 4tstE 168 90 CH 407 olE S
370 4tslE 168 91 E=IN 281 olE S
371 atsts 168 92 CH 60 o5
372 atsls 168 93 oH 17 o5 =
373 gtsls 168 | 105 == 191 o5 =
374 4tstE 168 | 106 == 42 =
375 4iotE 168 | 107 c=2 53 o2 S
376 qiotE 168 | 108 == 6 oz =
377 aats 168 111 =) 94 ==
378 utsls 168 114 CH 1,068 =S
379 HiotE 168 | 115 E=2 608 o5 s
380 atsls 168 116 >& 149 ol=5s
381 4istE 168 | 117 CH 23 o5 s
382 atsls 168 | 118 == 751 o5 =
383 4tstE 168 | 120 CH 188 olg S
384 atsls 168 | 121 CH 21 oS
385 utslE 168 122 CH 7 o=
386 utsls 168 123 OF 17 =S
387 utsls 168 125 OF 56 oIEs
388 HiotE 172 4 E=2 138 olE s
389 HistE 172 12 ==} 8 o= s
390 HistE 172 13 =] 2 o5 s
391 4tslE 174 2 CH 207 o5 s
392 usl= 174 8 CH 240 ot==
393 atsls 174 9 == 3 oS
394 atsts 175 1 CH 221 o=
395 4tstE 175 3 H 33 olE S
396 ukshs 175 5 CH 189 oSS
397 atsts 175 6 CH 187 ol=s
398 utsls 175 7 CH 169 oSS
399 4tstE 175 8 CH 169 olg S
400 utsls 175 9 CH 160 =S
401 4iotE 175 10 CH 167 o5 s
402 4iotE 175 11 CH 160 o5 s
403 4istE 175 12 CH 258 DPIE
404 4tstE 175 13 CH 268 op=
405 atsls 175 15 = 10 DPIE




Ol ™A H| 12
o= =4 Al H A= (r (Hol=)
406 atsls 175 16 = 12 olg s
407 aatE 175 17 E=Z 133 2=
408 4iotE 175 18 == 56 o= s
409 atols 176 2 ==} 23 olg s
410 atsls 176 3 L= 109 =
411 utsts 176 6 CH 79 oI=s
412 HatE 176 33 L= 85 ==
413 atsls 176 34 = 3 olg S
414 IR 177 3 == 76 oz =
415 utsls 178 2 CH 361 ol=5s
416 atsls 178 5 TA 10 o= s
417 4istE 178 9 == 85 o= s
418 gtsls 178 10 =] 3 o= s
419 uksls 179 1 CH 149 o= S
420 utsts 179 8 CH 142 oI=s
421 utsts 179 9 CH 130 olZs
422 utsls 179 10 CH 179 ol5s
423 utsls 179 11 CH 152 =S
424 4tstE 179 12 CH 132 olg S
425 4istE 179 13 oY 136 o= s
426 4istE 179 14 oY 107 ng s
427 ElaR 179 15 = 76 nlg s
428 utsts 179 16 CH 18 oI=s
429 utsts 179 17 CH 140 oI=s
430 FUCIE=S 179 18 CH 149 o=
431 utsls 179 19 CH 149 =S
432 4totE 179 20 CH 136 olE S
433 atsls 179 21 CH 129 oI=s
434 4istE 179 22 CH 132 o= s
435 4tstE 179 23 CH 149 olg S
436 4tslE 179 24 CH 149 o= s
437 YIS 179 25 CH 126 ot==
438 atsls 179 26 CH 136 oS
439 atols 179 27 CH 132 oS
440 4tstE 179 28 CH 129 olE S
441 4tslE 179 29 CH 112 olE S
442 HiotE 179 34 L= 119 =
443 4istE 179 35 CH 79 olg S
444 et s 179 37 =2 3 oz =
445 stz 179 40 =2 42 oz =
446 4iotE 179 42 2 1 o5 s
447 4iotE 179 43 == 3 o= s
448 2els 179 44 E=Z 3 DPIE
449 atsls 180 1 E=2 89 o=
450 atsls 180 2 L2 59 DPIE




Ol ™A H| 12
o= =4 Al H A= () (Hol=)
451 utsls 180 3 CH 550 olg s
452 atols 180 4 = 60 oS
453 YIS 180 5 CH 228 o=
454 atols 180 7 CH 1,632 olg s
455 atsls 180 11 = 17 olg S
456 utsts 180 12 CH 721 olE S
457 utsls 180 14 CH 360 oSS
458 atsls 180 15 =] 518 olg S
459 utsls 180 16 CH 579 olSs
460 atsls 180 17 = 332 olE S
461 4iotE 180 18 == 154 o= s
462 atsls 180 19 CH 82 o= s
463 atsls 180 20 CH 392 o= s
464 gsls 180 21 c=Z 23 o= =
465 utsts 180 22 CH 220 o2 S
466 atols 180 23 ==} 212 olZs
467 HistE 180 24 = 664 olE S
468 gtsts 180 27 = 47 2=
469 utsls 180 28 CH 101 olg S
470 atsls 181 3 oY 490 o= s
471 gtsls 181 13 E=2 1 o=
472 4tstE 182 8 CH 149 nlg s
473 utsts 182 9 CH 199 olg S
474 utsts 182 11 CH 105 oI=s
475 FUCIE=S 182 12 CH 348 o=
476 utsls 182 16 CH 205 =S
477 utsls 182 17 CH 166 oIEs
478 atsls 182 33 CH 207 o2 =
479 atsls 182 34 CH 103 o= s
480 utsls 182 35 CH 99 o=
481 atslE 182 36 CH 95 o=
482 utsts 182 37 CH 99 oI=s
483 atsls 182 38 CH 225 oS
484 atols 182 39 CH 195 oS
485 atsls 182 40 CH 189 olE S
486 ukshs 182 41 CH 218 oSS
487 atsts 182 42 CH 177 ol=s
488 utsls 182 43 CH 213 olg S
489 uhsls 182 44 CH 650 ol5s
490 utsls 182 47 CH 133 =S
491 atsts 182 48 CH 3 o5
492 atsols 182 49 CH 12 o= s
493 atsls 182 51 ==} 18 DPIE
494 gels 182 52 c=Z 9 otz
495 utsls 182 57 CH 227 DPIE




Ol ™A H| 12
o= =4 Al H A= () (Hol=)
496 4ists 182 58 oY 147 olg s
497 utsts 182 59 CH 99 ol=s
498 atsls 182 60 CH 104 o= s
499 atols 182 61 CH 106 olg s
500 4tstE 183 0 FTuEX| 659 o5 s
501 4tstE 183 1 ™ 139 olE S
502 utsts 183 4 CH 546 oSS
503 atsls 183 5 == 14 olg S
504 gdtsts 183 6 =2 124 2=
505 4tslE 184 2 E=IN 185 olE S
506 atsts 184 5 CH 941 o=
507 YIS 184 9 ™ 26 o5 =
508 4istE 184 19 oH 239 o= s
509 uksls 184 20 CH 300 o= S
510 utsts 184 24 CH 30 oI=s
511 utsts 184 36 =& 21 olZs
512 aats 184 41 =) 7 ==
513 atsls 184 42 L=} 61 o2 =
514 HiotE 184 43 E=2 36 olg S
515 utsts 184 44 CH 300 o5 =
516 Hi5LE 184 47 CH 9 o5 s
517 LIRS 184 48 =1 19 o5 =
518 atsls 184 53 E=2 90 olg S
519 utsts 184 60 i 43 oI=s
520 atols 184 66 =8 2,603 oS
521 HistE 184 73 E=2 17 olE S
522 HiotE 184 74 E=2 2 olE S
523 atsls 184 78 CH 343 olE s
524 LIRS 184 80 CH 24 ol53=
525 4tstE 184 81 = 15 olg S
526 4tslE 186 1 CH 220 o5 s
527 HislE 186 2 = 318 ol2S
528 FUCIE=S 186 3 CH 725 o=
529 atols 186 4 CH 245 oS
530 atsls 186 9 CH 151 oI=s
531 ukshs 186 11 CH 165 oSS
532 atsts 186 12 CH 428 ol=s
533 gtz 186 16 = 4 olg S
534 atsls 186 17 = 8 olg S
535 utsls 186 18 =1 18 =S
536 4iotE 186 27 == 361 o= s
537 atsols 186 28 CH 219 o= s
538 4istE 186 29 oY 222 DPIE
539 4tstE 186 30 CH 196 o=
540 utsls 186 31 CH 124 DPIE




Ol ™A H| 12
o= =4 Al H A= () (Hol=)
541 4ists 186 33 ™ 145 olg s
542 HislE 186 34 = 2 o5 s
543 YIS 186 41 CH 24 o=
544 YIS 187 1 CH 976 o5 =
545 atsls 187 4 = 1,020 o5 s
546 utsts 187 8 CH 261 oI=s
547 4tstE 187 9 = 272 =
548 4istE 187 11 ™ 95 olg S
549 gtz 187 13 = 28 olE S
550 utsls 187 14 CH 294 ol=5s
551 atsls 187 16 CH 162 o= s
552 atsls 187 17 oH 172 o= s
553 4istE 187 19 CH 302 o= s
554 utsls 187 22 CH 3 o= S
555 atsls 187 27 == 30 o2 S
556 utsts 187 28 CH 373 olZs
557 utsls 187 29 CH 1 ol5s
558 4tstE 187 43 ™ 69 olg S
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